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CEEEE 10,000 7,000 3,000
OO IS Her 100, 0002 * 105 +103] 10,000
FIE BRFY L )ISHAD 6,000 5,000 1,000
207 AT 6,000 5,000 1,000
03 A& & 2t 6,000 5,000 1,000
ORYP2HE BN U ISy o7
150,000 %105 *43] 6,000
=S4 HE Y IIZE Y o7 12,000 0 2,000
402 212t 20| 2,000 0 2,000
NIRRT 12,000 0 2,000
OZANUAZE THESAE B
8,000, 0002 *37H 4 *50/ 100 12,000
NAHE Iz 16,900 13,900 3,000




SN
X XH .
S Tt

ok

SEbIE
SISPIESFT
NeSHs ¥ Bsts

= =

Al
=

Al

oo

o1

Ol

L RE-E

SRS - HRAY - B2

[
2

20
B
2

201 Lt 2,300 2,300 0
01 AtR2telH 2,300 2,300 0
O1 Ler=EH] 300
DAUEEE Jlz WUF =EH| 300,000& =14 300
O8 2g+E 2,000
DHEBI=EES W ZAsE
00, 000& 102 2,000
202 44l 600 600 0
01 S LHAHbI 600 600 0
OJt&Jlz 2= 100, 000& +321 %23 600
206 X = Hl 8,000 8,000 0
01 X =4l 8,000 8,000 0
O3l E&E3 MY M=z
200,000 »205 #22] 8,000
207 & IOH | 6,000 0 6,000
03 Al & 72d| 6,000 0 6,000
OJ8Jls EES JlsHe
150,000& 105 43| 6,000
ESNY d3e g4 10,000 10,000 0
206 X =4l 5,000 5,000 0
01 =4 5,000 5,000 0
OEZUaES 0|28 &4Fst M=
10, 000& *500H 5,000
207 & FIHEH 5,000 5,000 0
03 Al & 4] 5,000 5,000 0
OEZWAE 0188 AZBsAFP (e 55 5)
50,000& x20&+52] 5,000
IIEELEY NG9HS 4SAE 23,800 35,000 211,200
402 BI2tX=01 & 23,800 35,000 211,200
01 BIZtAI= 2= 23,800 35,000 211,200
OJtESE A OtZULIotHIel XIEHS ASAE
17,000,000 *2JH 270/ 100 23,800
W HsAHAPANER2L(EX) 20,000 0 20,000
= 10,000
Al 10,000
201 L2 6,000 0 6,000
= 3,000
Al 3,000
02 32244 6,000 0 6,000
O3 A& &Hl sl 6,000
DAL AIEE IR X 200,000& 155 +23] 6,000
= 3,000




SN s
F: sl
el K|GSHE U WEYE AZAE o S
_ _ _ pSNE e
SN CR(EH) - NRAY - BES are 01l &t 08 e
Al 3,000
206 M= Hl 6,000 6,000
= 3,000
Al 3,000
01 =4 6,000 6,000
OXZHH 2T =4I 6,000,000 * 14| 6,000
= 3,000
Al 3,000
207 A< IH | 8,000 8,000
= 4,000
Al 4,000
03 Al& & 72d| 8,000 8,000
OXZXHAA2SA 8,000, 000& 14 8,000
= 4,000
Al 4,000
HsEXNTAY 243 325,729 A916,271
= 106,500
Al 219,229
NEsEXNTAY 2438t =) 213,000 A227,000
= 106,500
Al 106,500
405 KtatE =S| 213,000 A227,000
= 106,500
Al 106,500
01 MY SZHEHI 213,000 A227,000
SENCIIBEY s E)
15,000,000& * 14! 15,000
= 7,500
Al 7,500
Osadazs 40,000, 0003 =14 40,000
& 20,000
Al 20,000
OZ & 2 EH| 58,000, 0003 14 58,000
= 29,000
Al 29,000
OO0l St 2 &l 100,000, 000% * 14 100,000
& 50,000
Al 50,000
ANEsgsdabl=X# 112,729 A689,271
101 21 24| 32,129 5,511
04 JIAHIENS B4 32,129 5,511
OEAMN=sY HHFA jellall=] 16,747
>olZ2= 45,6002 » 121198 9,029
DEEd 45,6003 12136 1,642
DAt 45,600 *121+9 411




FA szl
M sYII=He

tel: NYSsEXNTAY 83 (=9I (ctel: &
. _ . e ~
SA B HRA(SH) - MRAY - B 0 &t o4 e HIREY
D&z 45,6003 1Q1x222 x33| 3,010
>aAald & WSEXIH| 100,000& «9& 900
DAUHEEZ 195,000 =121 x9& 1,755
OEAN=g AFAE 28 LAIASE 12 15,382
>ollZ2s 45,6003 x221 164 14,957
D4l 2= 425,000& x 12l 425
201 et A | 30,600 10,500 20,100
01 AR 2t eld| 13,600 5,000 8,600
O1 git=ZH| 7,000
DEASHAEZY LEt+=2H]
500,000& *4& 2,000
DEAsEY HFANE EES MNMH
5,000, 000& 14 5,000
O3 2g=¢ 6,600
DEAMSY s AcZAtE
100,000& *121%243] 2,400
PEANSY 2ERARE =¥
70,0003 1521 %4 3] 4,200
02 2323l 17,000 4,900 12,100
o1 3322 % HA 12,000
DEAMSY ARANE MRS
1,000,000& 123 12,000
O3 A8 &dl =Xd| 5,000
DEASHAIE ANLEEIRAX
500,000& *103 5,000
206 =l 20,000 25,000 25,000
01 =4l 20,000 25,000 25,000
OZAN=sEAHTRAE 29 XY
200,000& *100& 20,000
207 & O] 10,000 0 10,000
03 Al& & 72| 10,000 0 10,000
OE&U SSstAIE HATHH &S
100, 000& x50 23| 10,000
401 A& HIZ 20HYI 20,000 458,882 A438,882
01 Al£HI 20,000 455,882 N435,882
OEsHgunsa 8H=st =4
20,000,000& * 14! 20,000
Heegs(sglisn) 380,000 650,000 A270,000
HEHHXI= 380,000 650,000 A270,000
JIEISIHEEZ2(RSOMSUSHH 2A4) 380,000 650,000 A270,000
701 JIEtSIHEEZ 380,000 650,000 A270,000
01 JIEtSIHNEZ 380,000 650,000 A 270,000




FA szl
M HREs(sLlls)

&R WRHHXNS (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
ORSOIMES tHYY MAAL HY
380,000,000& 14! 380,000
HY2HZH (=L I=1) 112,631 111,076 1,555
=2 9,500
Al 103, 131
QI 2 80,835 74,880 5,955
=2 9,500
Al 71,335
ol 2 & 55,739 51,454 4,285
101 @124 d| 55,739 51,454 4,285
01 2= 55,739 51,454 4,285
OAlZ2tel 28+ 8,078 2321 +x300Al 2+ 55,739
S ASHEI=XA (sI=1) 25,096 23,426 1,670
= 9,500
Al 15,596
101 @124 H| 25,096 23,426 1,670
= 9,500
Al 15,596
03 RIAHAZZNHE 25,096 23,426 1,670
OELHFARI R HAZ =02 (&
sEH2Z) 25,096
>olE2a 45,6003 101252 11,492
= 9,500
Al 1,992
DEsd 45,6003 x121+502 2,280
DA 45,600 x 121 %152 684
Dad= 45,6003 *121%222 x43] 4,013
D40 EE =2 2,171,000& « 14 2,171
DA 22 188,000& x121x12& 2,256
> Ol 100,000& *121x10& 1,000
DAl & WESEX8l 100,000& x121x123 1,200
o122l 31,79 36,196 A4,400
Jl=&d| 31,796 36,196 24,400
201 L Br2 2| 14,796 14,796 0
01 AtR2tel 14,196 14,196 0
O1 L= 8,400
PREA2ZE =EH 700,000 123 8,400
O5 Sl 5,796
DORIS222 7,000& *23021+33| x 12 5,796
02 32244 600 600 0
o1 3322 2 HMAl 600
PRERS 50,000& 123 600
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20
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202 O4H|

7,200

7,800

50,000 1221 x12&

7,200
7,200

7,800

4,200

4,200

350,000& 128

4,200
4,200

4,200

5,600

9,400

A3,800

600,000& ~6CH

1,000, 000& = 1CH

100,000& 105

4,600
3,600
1,000
1,000
1,000

8,400

1,000

A3,800




